
Friday 3rd April 2020 

Maths 

Here are yesterdays answers. 

1. 12 ÷ 3 = 4 

2. 20 ÷ 5 =4 

3. 16 ÷ 4 =4 

4. 28 ÷ 4 =7 

5. 21 ÷ 7 = 3 

6. 8 ÷ 4 = 2 

7. 20 ÷ 4 = 5 

8. 9 ÷ 3 = 3 

** Challenge ** Poppy has got 24 balls, she shares them into 4 equal groups, how many 

balls are in each group. 6 

As we have now done all four operations, I would like you to test yourself with these 

questions, remember to check which operation you are doing. 

1. 10 + 12 =  

2. 20 – 5 =  

3. 4 x 5 =  

4. 4 ÷ 2 = 

5. 15 ÷ 5 =  

6. 23 + 24 =  

7. 50 – 10 =  

8. 10 x 5 =  

9. 5 x 6 =  

10. 20 ÷ 5 =  

 

** Challenge** If there are 34 cars in a car park and 12 more come in but then 

15 leave, how many cars are there altogether? 

English 

Today I would like you to re-write these sentences using the correct punctuation, it 

might be a question mark, an exclamaition mark or a full stop.  

What is that horrible smell    Good morning Year 2, said the teacher 

Come and line up    How are you feeling today 

It was a hot, sunny day   Why are you smiling 

It’s not fair     can you play the trumpet 


